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HanpasJiienne: « @MHAHCHI U KPeIUuT»

Ipopuin: «@oHI0BbIe PHIHKHA U (PUHAHCOBBIE HHCTUTYThI» Konx — 180-181
«CtpaTernyeckoe ynpasijieHue puHancamu GpUPMbI»

Bpems BbinosiHeHusi 3a1aHusi — 180 MUHYT, A3bIK — PYCCKMIi/aHTJIN A CKMii

I. OBIIASA YACTh. MUKPOOKOHOMUKA. MAKPO3KOHOMMKA

PEHINTE 3AJIAYM.

3agaua 1 (25 6a.10B).
B 3akpeiToit 3xkoHOMHMKE (PyHKIMs moTpedneHus 3agaHa kak C = 400 + 0, 75Y¢ (3mech Y9 -
pacnionaraemslii 1oxon), dyukius uaBectunumii: | =150 + 0.15Y - 51 (3meck 1 - mpoIieHTHAs CTaBKa,
3aJjaHHas B MPOLIEHTHBIX MYHKTaxX, TO €cTh npu 1 = 2% B dopmyny

BMeCTO 1 nojcraBisiercs unucio 2), dynkius HanoroB: T = 100 + 0,2 4 Muannpyemsie (E,,) u

Y, BeIMUMHA TOCYAAapCTBEHHBIX 3aKYNOK TOBApOB M yciyr papHa | Paxmwicckue (Eq) pacxome
800, TpaHCQEepTH U MPOILEHTHI IO TOC. JOATY paBHBI Hyo. KpuBas Es
LM 3anana ypasaenuem (M°/P) =Y - 30i (rme M® - HoMuHansHOE :
NpeaIoKeHUe JeHer, P - ypoBeHb IIeH M 1 - MPOIEHTHAs CTaBKa, "
3a[aHHas B IIPOLEHTHBIX IyHKTaX). [Ipeioxkenue nener papHo M°

= 4850.

v=<

Bonpoc 1.1 (5 6amnoB) IIpu 3K30reHHO 3aJaHHOM YpOBHE IieH P =
1 paccuuTaiiTe BEIWYMHBI PABHOBECHOT'O BBINYCKA U MPOLEHTHOU
CTaBKH.

Bonpoc 1.2 (8 6ana0B) [Ipennonoxum, 4To npu ypoBHE BBITYCKA,
PACCUYUTAHHOTO B 1.1 »kxoHOMMHKaA HaxoaujiaCb B TOYHOCTH Ha
YpOBHE MOJHOU 3aHsATOCTU. OHAKO MPABUTENIBCTBO, U3-3a OITHOKHU
B pacyerax, MOCUUTANIO 3TOT YPOBEHb CIMIIKOM HHU3KUM, MPHUHSIIO

A &

PEIIEHUE CTHUMYJIMPOBaTh S3KOHOMHMKY H TOBBICHJIO BEIMYMHY ks
rocynapcTBeHHblx 3akynok npo 850. Ilpenmosaras, 4rto B AD
KpPaTKOCPOYHOM  IEpHOJE  YpOBEHb  I[E€H  HEU3MEHEH U
KpPaTKOCPOYHOE  COBOKYIIHOE  IIPEMJIOKEHHE  T'OPH30HTANIBHO,
IMOKAXXUTE KPATKO- U JOJITOCPOUYHBIE ITOCIEACTBHS ITOI0 PEIIECHUS B A SRASS

TPEX CHUCTEMax KOOPJWHAT, TaK KaK IMOKa3aHO Ha PHUCYHKE (Tak,
9TOOBI TOUYKH PaBHOBECHS COOTBETCTBOBAIIM APYT ApyTY). Mcxomnas

v=<

TOYKa, COOTBETCTBYIOIAs PaBHOBECHIO, pacCCUMUTaHHOMY B 1.1, yxe
nokasaHa M oOo3HaueHa OykBoi A. TOYKM KpaTKOCPOYHOTO
paBHOBECHsI I1OCJI€ TOBBIIMIEHUS TOC. 3aKyNOK 0003HaubTe OykBamMH B, a TOUYKM HOITOCPOYHOTO
paBHOBecHs - OykBamu C.

Bonpoc 1.3 (12 6a;n0B) Haiigure koopauHatsl Touek B u C Ha Kax10M U3 Tpex rpadukos.

3amaua 2 (25 6ax10B).
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Preirounsii cnpoc 3anan gynkiueit P = 100 — 0.5Q. Ha priHKe IpoU3BOIAT U MIPOAAIOT MPOAYKITUIO
JIBE OJIMHAKOBBIC (PUPMBI, U3JCPKKH KaKa0i u3 HUX paBHbl 1Ci = 4Q;, 1=1,2.

Bomnpoc 2.1. (5 6annoB) Eciu ¢pupmbl koHKypupytoT 1o KypHO, CKOJIBKO MPOIYKIMH TPOU3BEACT
Kaxas u3 Hux? Kakas nieHa ycTaHOBHTCS Ha PHIHKE M KaKyI0 IPUOBLIb MOMYYUT Kaxkaas u3 pupm?

Bonpoc 2.2. (5 6anaoB) Ilpeamnonoxum, nepBoi ¢Gupme HM3BecTHA (DYHKIUS pPEaKIMH BTOPOU
GbUpMBI U OHA TIEPBOM NMPUHUMAET pemieHne o0 o0beMe MPOU3BOJACTBA/TPOJAXK, a BTOpas (upma
nojcTpauBaercsa mnoja ee BbiOop (onmuromnonus [ltakensOepra). CKOIbKO MPOAYKLIUU MPOU3BEACT
nepBas ¢upma (iuaep)? Bropas dupma (mocnenoBarens)? Kakas 1ieHa yCTAaHOBUTCS Ha PHIHKE U
KaKyIo MIPUObLUIb MOJYYUT Kaxaast u3 pupm?

Bonpoc 2.3. (4 6anaa) Eciiu ¢upmbl 00beAMHATCS B KapTellb M HAYHYT JCHCTBOBATH 3a0HO (a
MIPOM3BOJICTBO U MPHOBUIH OyIyT JNETUTHh MOMOJaM), CKOJIBKO MPOIYKIIMUA MPOU3BEACT KaKAAs U3
Hux? Kakas 11eHa yCTaHOBUTCS Ha PhIHKE U KaKyto NPUObLIb MOTYUYUT Kaxkaas u3 pupm?

Bomnpoc 2.4. (4 6amma) Eciin Mexay pupmamu HadHETCS 1IeHOBasi BoitHa (onurononus beprpana),
CKOJIBKO MPOAYKIIUM MPOU3BEACT Kakiaas 3 Hux? Kakas 1ieHa yCTaHOBUTCS Ha PHIHKE U KaKylO
npUOBLIb TOMYYUT Kaxaas u3 Gupm?

Bonpoc 2.5. (7 6amnoB) CpaBHuBas pe3yiabTarhl 2.1-2.4, B KakoM M3 Clly4aeB OOIIECTBCHHOE
6narococrosinue Oyner HanbOonbmuM? Hanmenbmmm? [IponumrocTpupyiTe KaxIbli U3 3THX ABYX
KpallHUX ciydaeB rpadukamMu, Ha KOTOPBIX TOKQKUTE BBIUTPBIIIN TOKyNaTened u (mpu
BO3MO>KHOCTH) ITPOU3BOIUTEIIEH.

Il. CIEHUAJIBHASA YACTb

BoiOepuTe W BBINOJHHTE TOJAbKO OIWH U3 OJIOKOB 33/IaHUIl CHEUAJIBHOW YacTH B
COOTBETCTBMH C BHIOPAHHOW BaMM IPOrpaMMoOil MAaruCTepCcKOi MOArOTOBKH.

BJIOK II.1. «®OHAOBBIE PBIHKU M ®PUHAHCOBBIE HHCTUTYTbI»

Tect 1. (2 point per correct answer).

Choose the correct description of the existence of the wide market indices on the Russian stock
market:

1) There are two indices on the Russian stock market: MICEX and RTS. One of them is based
on the stock prices in the national currency, the second one — in dollars

2) There were two indices on the Russian stock market, but only one has remained after the
stock exchanges consolidation. This index is based on the stock prices in the national currency.

3) There are three key indices on the Russian stock market. The first index is based on the
stock prices in the national currency, the second one — in dollars, the third — in euro.
Tect 2. (1 point per correct answer).

Which of these ratios is the most stable (is suitable for most industries and less volatile in
dynamics)?

1) EV/Sales 3) EVIEBITDA
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2) PIE 4) PIEBITDA
Tect 3. (2 point per correct answer).

Macaulay duration of a corporate bond is 4 years. The yield to maturity of this bond is 8%. The
coupon rate is 13%. If the interest rate on the market increases by 2%, how the bond price will
change? Choose the correct percentage and direction of price change. All values should be rounded
to two signs after comma.

1) Increases by 2% 5) Increases by 7,41%
2) Decreases by 2% 6) Decreases by 7,41%
3) Increases by 8% 7) Increases by 7,08%
4) Decreases by 8% 8) Decreases by 7,08%

Tect 4. (1 point per correct answer).

Book value (BV) in EV/BV ratio can be identified as:
1) Book value of equity 3) Book value of all assets of the company
2) Book value of debt 4) There is no right answer

Tect 5. (2 point per correct answer).

Choose the correct statement regarding the reaction of short and long-term government and
corporate bonds to certain macroeconomic or political events (for example, changes in expected
inflation or the election of D. Trump as the US president). How have yields of bonds of different
segments and maturities changed?

1) Yields of 30-year US Treasuries are more sensitive to inflation forecasts than those of short-term
bonds. So, after the election of D. Trump yields of 30-year US Treasuries increased to a greater
extent.

2) Yields of 10-year US Treasuries are more sensitive to inflation forecasts than those of more long-
term US Treasuries. So, after the election of D. Trump yields of 10-year US Treasuries increased to
a greater extent.

3) Yields of government bonds are not sensitive to inflation, only yields of corporate coupon bonds
react to inflation. Corporate coupon bonds demonstrated growth of yields.

4) Neither government nor corporate bonds do not react to changes in inflation forecasts. Inflation
influences on the stock market only.

Tect 6. (2 points, 1 points per correct answer).

An analyst calculated the coefficients of the linear regression of returns of company’s shares on the
returns of stock market index. As a result, he received the equation:

Y=1,2*X+0,04, R?>=0,62

Which of the following conclusions can the analyst draw from this information? (choose two
correct answers)

1) Risk-free rate of return = 4% 4) Risk premium = 1.2%
2) Risk-free rate of return = 6.2% 5) Required rate of return is 20%
3) Raw Beta=1,2 6) Adjusted Beta = 1,13
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An analyst uses Gordon model and CAPM to evaluate fair value of GAZPROM common
share. Choose correct answers in the following series of questions (from 8 until 12 - 5 points, 1
point per correct answer):
Tecr 8.
CAPM allows to find out:
1) Expected returns on the company’s shares
2) Fair price of the company’s shares in absolute terms (rubles)
3) Beta coefficient
4) Expected and required returns on the company’s shares
Tecrt 9.
The company assumes a perpetual stream of dividend at the annual rate of 300 rubles per share. The

alternative investment rate taking into account the risk of Gazprom’s shares is 10%. The risk-free
rate is 6%. What is the fair price of shares (in rubles):

1) 1875 3) 5000
2) 3000 4) 7500
Tecr 10.

DPS for the reporting year (2016) is 210 rubles and the annual growth rate of dividend is constant
and equals to 1%. What is the fair value of one share (in rubles) at the beginning of 2017 if the
alternative rate is 11%?

1) 1750
2) 2 100
3)2121

Tecr 11.

If equity owners’ risk increases due to some corporate decisions (a change of management, change
of financial strategy) then:

1) Required equity’s rate of return and the discount rate of cash benefits of capital owners will
decrease;

2) Required return on equity and the discount rate of cash benefits of capital owners will increase;
3) Required return on equity and the discount rate of cash benefits of the owners of capital will not
change

Tecr 12.

Calculate the expected returns on Gazprom’s shares in 2017 if the risk-free rate is 5%, the returns
on the stock market index for 2016 is 20%, beta is 0.9, market risk premium is 6% (calculated based
on the long-term time horizon as average return)

1) 18,5% 3) 10,4%
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2) 18% 4) 6%

Tect 13. (1 point per correct answer).
At the zero-coupon bond
1) the duration is the term to maturity
2) the duration does not exist
3) the duration is equal to the life of the bond

Tect 14. (1 point per correct answer).

A 13 year, 8%, $1000 face value bond is currently trading at $970. A yield to maturity of this bond
must be

1) Less then 8% 3) Equal to 8%
2) Greater then 8% 4) Unknown

Tect 15. (3 points, 1 point per correct answer).
According to the three factor Fama French (3FF) model, which risk factors are taken into account
1) the volatility of a security
2) the beta factor as a sensitivity to market risk
3) the beta factor as a sensitivity to risk free rate
4) the alpha coefficient
5) the reverse factor
6) the size factor
7) the value factor
8) the gamma factor

Tecr 16. (4 point per correct answer).

Assets of a private pension fund (PPF) are estimated at 18 bln Rub. The expected return for the fund
assets portfolio is 12%, the volatility of the portfolio returns is 26% (assuming a normal distribution
of returns). The 99% confidence interval of the cumulative normal curve corresponds to 2.33
standard deviations. Calculate the value at risk of the fund (in bin Rub) for the probability of 1%.

1) 8,7 3) 4,68
2) 5 4) 18

PEIIUTE 3AJAYU (MakcumyMm - 26 6a/1710B)
3agaua 1. (10 6ans0B, 2 6ajJ1a 32 KaXKIbI BEPHBIH 0TBET)

[To nmyOnnunoii kommanuum AAIl aHamuTUK B pamkKax MHpoBeaeHUS (DyHIaMEHTaIbHOIO
aHajM3a Mo CTaHAapTHON (MHAHCOBOW OTYEeTHOCTH KoMmmanuu 3a 2016 ron (MC®O, B momnapax)
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Halen cleayruy nHpopMarmoo. CoOCTBeHHBIH KanuTan mo OanaHcy cocrasiser $6 000 Thic.,
3aeMHbIi KanuTan 1o 6anancy $4 000 Teic., mocneauuii mpusiedeH mos 10% ronoBbIx.

Taxxe ananutuk Hameln, uro Sales = $12 000 teic., Gross profit = $4 930 Tsic., Selling,
General and Administrative expenses (S&GA, without D&A) = $2 450 Tteic., Non-cash charges
(Depreciation and Amortization) = $350 teic., Effective tax rate = 20%. ®uckanbHas craBKa
Hasiora Ha npuObLIb TaKxke 20%.

Nsmencane Net Working Capital 3a 2016 rox cama kommnanus orcHuBaeT B $500 Thic.
B romoBom otuyere kommnanuu ykazano, uro Net capital investments cocrasmser $316 ThIC.,
Net borrowing $120 Teic.

[TomMoruTe aHATUTHUKY OLICHUTH CIEAYIONIME AaHAIUTHYECKHE (DUHAHCOBBIE PE3YJIbTATHI
xkommaHuu ($ Teic. mwim %)

1) EBITDA and EBIT

2) OCF

3) FCFE

4) ROC

5) Net income profit margin
3anaua 2. (5 6a,1710B)

DOHJOBBIN UHAEKC COCTOUT U3 akiui Tpéx komnanuii: A, B u C. Unaekc paccuuThiBaeTCst
KaK cpeqHee apudmeTnyeckoe, B3BEIICHHOE MO KamuTalu3aluud KoMnaHuil. Ha mMoMeHT Haudana
pacuéra mHAeKca neHa akuuu A Obuta paBHa 30 py6., B - 40 py6., C - 50 py6. KomuuecTtBo
BBIMYIICHHBIX Akl koMraHnuu A cocrasisiio 100 wryk, B - 200 mryk n C - 300 wryk. B MmoMeHT
BpeMeHu T 1eHbl akuuid coctaBuiau: A - 34 py6., B - 38 py6., C - 52 py0., a KOTUYECTBO
BBIMYIIEHHBIX akiuii: A - 120 mtyk, B - 250 mtyk, C - 300 mwTyk. 3HaueHre WHIEKCa B MOMEHT
Havasa ero pacuéra paBao 100. Onpenenuts 3HaYCHUE HHIEKCAa B MOMEHT BpemeHu T.

3anaya 3. (5 0a1710B)

Omnpenenutb pucK MopTensi, COCTOAIETro U3 akuuii A u B, ecnu nons akuuu A B noptdene
cocrasisieT 20%, cTaHIapTHOE OTKJIOHEHHE TOXOJHOCTH aklMK A 3a nepuoj paBHO 25%, akuuu B:
35%. KoadpummenT koBapuaimu goxoaHocreii paseHn 120. CpenHsst ro1oBasi JOXOTHOCTh aKIud A
3a paccMatpuBaeMbiii iepuo paBHa 10%, noxomnocts akuuu B: 18%.

3anaua 4. (6 6an1710B)

AHanUTHK OIICHMBAET aKUWW MyOnuYHOW KommaHuu A Ha Havano 2017 roma. bera
ko3 uumeHT akuuit komnanuu paseH exuHuie. ROA xommnanuu o 2016 roxy ouenexo B 10%
rooBbeIX. JluBuaeHHas 10X0MHOCTH paBHa 3%. Kommanust A B 2017 roay He OyieT OCyIIeCTBIIATh
JTUBHJICHTHBIE BBIILIATHI, B KoHIlE 2018 T. — muiaHupyeT BBHIIIATUTH AUBUACHA B pasmepe 100 pyo.
Ha aknuio, B KoHIe 2019 r. — 110 py6. Ha aknwuio, a ganee (C 2020 rona) nuBuaACHI OYIET PacTH C
temnoMm 4% exeronHo. HomuHanmpHas craBka NOpoIEHTa MO OJHOJETHUM TOCYIapCTBEHHBIM
obnuranusm B nepuoj 2017-2019 rr. oxxumaercss Ha ypoBHE 5%, 1O JOATOCPOUYHBIM — 7%, IpeMus
3a PUCK MHBECTUPOBAaHUS B KOMIIAHUIO cpenHero pucka — 6%. Haumnag c¢ 2020 r. croumocts
coocrBenHoro kanutaiga (COE) nns kommanuu Oyner Ha | MpPOLIEHTHBIN MYHKT BBILIE 3HAYEHUS
2017-2019 rr. Onpenenute crpaBeUIMBYIO (LIEIEBYIO) IIeHY akiuu Ha Havano 2017 r/

HaumnonaabHbIi HCC/IeI0BATEILCKU YHUBEPCUTET « BpIcasi K012 SJKOHOMHUKI)



Onumnuana Ajsi CTyAeHTOB U BbIMYCKHUKOB — 2017 1.

BJIOK 1II.2. «CTPATEI'MYECKOE VYIIPABJIEHUE ®UHAHCAMHU ®UPMbI»
ICORPORATE FINANCE part

1. Multiple choice questions (choose one answer).

Use the following problem description to answer multiple choice questions (3, 4,
5) and solve problem 3. Provide solutions to all answers (including answers
multiple choice questions)

ABC company follows NO growth strategy. ABC company is financed with debt capital and equity
capital. Equity consists of 2000 shares that are traded today at 400 rubles each. Debt is represented
by riskless perpetual bonds which offer 6% coupon rate. In total there are 250 bonds and each has
face value of 1000 rubles. ABC’s management team is considering a “complex refinancing plan”.
Managers want to issue additional debt and use the proceeds to pay out dividends immediately.
Management has decided to issue 100 risky straight coupon bonds with face value of 500 rubles
with 10-year maturity. New bonds are expected to be sold at their face value and offer 7% coupon
rate. Suppose you believe CAPM holds. Corporate income tax rate which is the only market
imperfection equals 20%. The risk-free rate of return is 5% and yield curve is flat. ABC
management plans to retire the new risky bonds when they mature at the end of 10 year period and
will finance this repayment with an additional equity issue. ABC management team will disclose
the description of the whole “complex refinancing plan” tomorrow morning. Analytics assume
ABC’s interest tax savings are of the same level of risk as its corresponding debt issues.

Unfortunately, you are not given the information regarding the systematic level of risk of ABC’s
equity and have to deal with comparable companies. XYZ company is a perfect candidate for that.
XYZ’s line of business is the same as ABC operates. However, XYZ company is 10 times greater
in assets. Possibly, such a difference in size can be explained by XYZ’s longer history of
operations. XYZ management team continuously reinvests 25% of its earnings. XYZ uses two types
of capital. One half is equity which has beta of 1,5. The other half is perpetual debt offering 6%
yield. Analytics assume XYZ’s interest tax savings are of the same level of risk as its operating
assets. Expected return on the market portfolio is 15%.

Suppose, ABC’s managers will firstly disclose all the details of their “complex refinancing plan”
tomorrow morning. Afterwards they will issue debt and, finally, will use the proceedings to pay out
cash dividends.

Answer the following questions:

3. (2 points) Determine the ABC firm value and the ABC stock price today before the
announcement. Don’t forget to provide explanations and calculations if needed. Choose the closest
values.

1) Firm value 1110000 rubles, Stock price 405 rubles
2) Firm value 1100000 rubles, Stock price 400 rubles
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3) Firm value 1104900 rubles, Stock price 403 rubles
4) Firm value 1054900 rubles, Stock price 378 rubles
5) Firm value 1054900 rubles, Stock price 428 rubles
6) Firm value 1050000 rubles, Stock price 400 rubles

4. (4 points) Determine the ABC firm value and the ABC stock price tomorrow morning after debt
issue. Don’t forget to provide explanations and calculations if needed. Choose the closest values.

1) Firm value 1110000 rubles, Stock price 405 rubles
2) Firm value 1100000 rubles, Stock price 400 rubles
3) Firm value 1104900 rubles, Stock price 403 rubles
4) Firm value 1054900 rubles, Stock price 378 rubles
5) Firm value 1054900 rubles, Stock price 428 rubles
6) Firm value 1050000 rubles, Stock price 400 rubles

5. (4 points) Determine the ABC firm value and the ABC stock price tomorrow after dividend

payment. Don’t forget to provide explanations and calculations if needed. Choose the closest
values.

1) Firm value 1110000 rubles, Stock price 405 rubles
2) Firm value 1100000 rubles, Stock price 400 rubles
3) Firm value 1104900 rubles, Stock price 403 rubles
4) Firm value 1054900 rubles, Stock price 378 rubles
5) Firm value 1054900 rubles, Stock price 428 rubles
6) Firm value 1050000 rubles, Stock price 400 rubles

2. Problem solving section

Problem 3. (15 points) Continue to use the provided above problem description about ABC’s
“complex refinancing plan” and answer two questions. Don’t forget to provide assumptions,
explanations and calculations if needed.

3.1 (10 points) Determine the required return on ABC equity today and tomorrow after the
announcement.

3.2 (5 points) Determine the change in ABC stock value as a result of capital structure change in 10
years when ABC is supposed to issue additional equity and repay risky debt. Present calculations if
necessary.

Problem 4 (25 points) You are asked to advise on an investment project. Company BCD plans to
implement a project that will be financed with debt and equity. Shareholders have decided to
implement the project with help of a separate new entity — company Z. Company Z will be created
specifically to realize the project.

You are given the following info regarding the project:

Project has 3 years maturity. Sales are expected to be 300, 400 and 500 min. rubles for the
corresponding three years. COGS (excluding depreciation expense) will comprise 50% of Sales.
Capital expenditures will reflect acquisition of equipment for 180 min. rubles. It will be fully

8
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depreciated using straight-line approach. Net working capital management guidelines require
current assets to be at 30% of expected EBITDA in a corresponding year. Current liabilities are
planned to be at 10% of expected COGS in a corresponding year. Corporate income tax rate is 20%.
Interest rate on debt capital is 10%. Required return on unlevered equity capital is 20%.

Project will be financed with debt and equity capital. It is agreed that debtholders will provide 90
min. rubles with 10% required return. The rest will be financed with equity capital.

Managers agreed to a special debt repayment scheme. 90 min. of debt will be retired in three equal
installments of 30 min. at the end of each of three years. All of three repayments will be financed
with equity issues. Such a repayment scheme will result in changing capital structure. After the final
debt repayment company Z will realize itself to be financed only with equity.

Answer the following questions:

4.1 (6 points) Assume the project is financed with equity only. Build up cash flows table and
determine whether the project should be implemented.

4.2 (6 points) Calculate APV (Adjusted Present Value) of the project and advise whether the
project should be implemented.

4.3 (6 points) Suppose APV measure from previous question follows normal distribution with
estimated mean that you calculated in question 4.2 and standard deviation of APV equal to c. You
as a consultant got the following information from CEO of BCD company: company BCD
managers will accept the project only in case the probability of firm value decrease is not higher
than 2,3%. Estimate the maximum standard deviation o of APV that will allow to accept the
project.

4.4 (7 points) Suppose variance of APV calculated in question 4.3 depended only on sales
fluctuations. Now you discover COGS being the second major source of uncertainty. Discuss
characteristics of Sales and COGS that might increase probability of the project to be accepted (for
example, those characteristics that might decrease standard deviation o of APV that you got in
question 4.3)

HaumnonaabHbIi HCC/IeI0BATEILCKU YHUBEPCUTET « BpIcasi K012 SJKOHOMHUKI)



